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INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium

other than that specified in the Admission
Certificate.

Candidates should attempt Questions 1 and
5 which are compulsory, and any three of
the remaining questions selecting at least
one question from each Section.

The number of marks carried by each
question is indicated at the end of the
question.
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SECTION A

1. Attempt any three of the following in not more than

200 words each :

(a)

(b)

(c)

(d)

2. (a)

(b)
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“Bureaucracy developed by the British stifled the

village self-rule.” Comment.

Comment on the view that despite different
contexts, administrative maxims of Kautilya’s
Arthashastra bear considerable similarity with

features of Weber’s ideal bureaucratic model.

“The weakest aspect of Indian administration is

the grievance redressal machinery.” Discuss.

“There is no basic contradiction between Civil
Service neutrality and Civil Service activism.”

Comment.

“Law and order problems of the twenty-first
century cannot be tackled through legislations and
structures of the nineteenth century.” Give
suggestions for transforming the law and order

machinery at the State level.

“The recommendations of the Second
Administrative Reforms Commission on reforming
the Civil Service are radical yet implementable.”

Do you agree ?

3x20=60

30

30
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1. Frafafas § ¥ &8 dv & W dfSg, st 93
200 T ¥ S H AE g4 =T : 3x20=60

(%) “S g fawfaa sfvedds 4 g @-3EA
F faeafug &< fgar ar 7 fewvft Fifse |

(@) 39 sfeam w ool #ifve & fam g9l &
B9 & ENE, difccd & W H AWEES
aEfmdl F A F ey AU wed &
afeeml & g gaia S9Ear @ |

(1) “9ARAE TITEA & gaead 9 e fREre
Tifye 8 I =49 Fif9Q |

() ‘“fofger Y1 detgar Rk fafae a1 wfegar &
a1 ouifie wer-fadw =@ @ 17 fewvd
SHifsT |

2. (F) “THHEEl I H OFEA AR FEET H
el @ IHwE vaE & fauE sk
g & urean 9 fAuem A8 e S oweedn
21 T W W FAA AR = & dF H
AT FH & fag gae S | 30

(@) “fafge dar & gud w® fgdig semEfas gur
AT & fAERel e 9Radaad €, dfed
i fFaragg § " S AT GgAd & 2 30
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3. (a) Briefly discuss the main recommendations of any

fwo of the following : 30
(1)  Paul Appleby (1953 and 1956)

(11) Santhanam Committee

(111) Hota Committee

(iv) Sixth Pay Commission

(b) Examine the role of the Finance Ministry of the
Union Government in designing and implementing ‘
monetary and fiscal policies, 30

4. (a) Discuss the relationship between governance and
development in any one Indian State, giving
illustrations. 30

(b) Do State Services suffer in comparison with the
All-India and Central Services ? Suggest measures
for enhancing the role, competence and impact of
State Services. 30
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3. (%) Frafafaa & ¥ vl @ % go RwRel . W
gag § == S - 30
(i) Uel U9t (1953 3T 1956)
(i) Hg=H "Efd
Gii) @rar 9fEfa
(iv) B3 da- IEn

(@) Hifgs At s Aifqdl & ®9 dOR 1 3
frafag & & 99 w@R & faa d@3eE i
qffepr 1 q{eer FANT | 30
4. (F) G & 50 = T # WA AR fGEE & &9
% Hay 9, IFET 9 Fd g, 99 HWC | 30
(@) ¥ U9 qaeil & sfed 9 fasi ik
HEg Al F gEEd GHEE @al @ 2 TS
Tarsit F gfrewr, Temar iR ywE § 3fg 3 &
faw U gz | 30
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SECTION B

5. Comment on any fhree of the following statements in
not more than 200 words each : 3x20=60

(a) “India has failed to devise a long-term strategy for

drought management.”

(b) “A fixed tenure in Civil Service postings can
increase productivity, accountability, and probity

in Government.”

() “Sound municipal governance requires a cadre of
specialized municipal services executives equal in

status to State Services.”

(d) “Administrative talent of a Minister determines

his success.”

6. (a) “The respective roles of the Cabinet Secretary of
the Government of India and of the Chief
Secretary of a State are similar in certain respects,.

and dissimilar in others.” Explain. 30

(b) Do you agree with the view that Citizens’ Charters
in India have not succeeded in their objective of
making the administrative system citizen-centric ?

Analyze and give your suggestions in this regard. 30
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5. frafafaa & ¥ f&€ dlv 99 w feuof Fifsw,
ST 9% 200 Y= 4 s § 9@ e =ifgu .

3%20=60

%) “g@En @y & fau s Jdefas wrifa @t
R A ¥ 9T 3R @1 2 |

(@) “fafae Qa1 a=faal § s frag sEdse 9K
§ IWEHAl, SEEcd R goter #§ gfg e
qEar g 1

(M) ‘O FRUfas YA & faw te faendied
TR Gasll FEuEs % TS dai &t
AEYIHAl Bdt @, S Sfaer @ 2T ¥ oy
Qa3 & wHded ® 17

() “HA # owymefae wfawr & SuSt 9%edr &
faule 8t 2 1

6. (F) “YNd &R & dfed g iR &6 =9 &+
g gfed &t -39l yfred F9 aal #
TH 2 3R @ 3= Wl § ormmE g 17 Wy
FHifeT | 30

(@) 1 Y 39 faur ¥ 9gnd € & 9ra § arfis
AfysRya, yymafas a7 & Arie-Sias a9 &
I YT A v @ § ? 3w favemur
ST 3R 39 day § 3w gaa A | 30
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7. (a)
(b)
8. (a)
(b)

“The National Human Rights Commission has
done a commendable job in developing a sense of
responsibility among organizations towards the
protection of human rights.” Comment on this

assessment.

In your view, which have been the five most
important administrative reforms implemented

after Independence ? What has been their impact ?

“Values of Indian administration must be rooted in

the Preamble of the Indian Constitution.” Discuss.

“Many of the programmes of development being
implemented at the State and the Local level have
been initiated or financed by the Union
Government. This has transformed the nature of
Indian federalism.” Critically examine this

assessment.
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7. (%) “TPFE THEfESR AT 3 AHe fEsRl F
qeor & ¥ el § Suiafad @ S 9E
& fasa & # s gyieg w14 fmar 2 17 39
3o W feugolt Fifsg |

(@) 3us foear ¥ @daar wfd & gvan feaf=a

ffe @ uw waifas Ae@qul gIEfAE guR
FAY R E ? 35 T 9T @ 2 2

8. (F) “YRAE WMEA & HeAl H T B HRAHA
dfgum &t Ry § a1 smEvas g 10 ==
FHifsw |

(@) ‘T8 &R W IR ¥HEE & | fFaf=a o
ST ®@ faom & 3% SfFH 41 9 99 9ER &
T YRY fFu U & T 39 T faifaa € )
3O R REEER # YEA @ wuiaid
fear 8 1V 3® HHad &1 gHENEAT gfed
gieor FHifST |
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e
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gel & I Jdl AregH F fore S @ifee
foreraT 3eviea sy maer-gF 4 fFar war &,
3R 59 HEGH B T Iooid FR-Geid >
gE go R Jifea [Hide ®= ux far smEr

TIRv | Ya91-9F 9% 3fceilRad Areawd & 3falke
3= fdl aregw 7§ ford e 3R UR HiF i

F&1 faenr |
go7 gegT 1 3R 5 3ifFard & | it goar 7

W oAb GUS § PH-G-PH B HIT gADY
fa=s1 i ge=t & Fax o |

gdd ¥99 & foe [Aaa 3ie 997 & 3iad 7 far
e

Note : English version of the Instructions is printed on
the front cover of this question paper.




